
Ws 2

M.A. DEGREE EXAMINATION – JUNE 2009.

Second Year

(AY 2003–04 and CY 2004 batches only)

Sociology

INDUSTRIAL RELATION AND LABOUR 
WELFARE

Time : 3 hours Maximum  marks : 75

PART A — (3 × 5 = 15 marks)

Answer any THREE questions.

All questions carry equal marks.

Each answer should not exceed 1 page.

1. Bring out the concept of Industrial Relations.
öuõÈÀ xøÓ EÓÄPÒ £ØÔ¯ P¸zvøÚ öÁÎUöPõnºP.

2. Point out the importance of collective bargaining.
Tmk ÷£µzvß ¬UQ¯zxÁzøu SÔ¨¤kP.

PG–204 MSO-6



Ws 2

3. What are the  causes of strike?

÷Áø» |ÖzuzvØPõÚ Põµn[PÒ GßÚ?

4. Describe the scope of labour welfare.

öuõÈ»õÍº {»® £ØÔ¯ £µ¨ö£Àø»ø¯ ÂÁ¶.

5. Define social insurance.

\P Põ¨¥miøÚ Áøµ¯Ö.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

Each answer should not exceed 5 pages.

6. Bring  out  the  nature  and  scope  of  Industrial 
Sociology.

öuõÈØ\õø»  \PÂ¯¼ß  ußø©  ©ØÖ®  £µ¨ö£Àø»ø¯ 

öÁÎU öPõnºP.

7. Examine the social security measures in India.

C¢v¯õÂÀ \P¨ £õxPõ¨¦ vmh[PøÍ¨ £ØÔ £¶÷\õvUP.

8. Elucidate  the  methods  of  settling  Industrial 
Disputes.
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öuõÈÀ xøÓ uPµõÖPøÍ wºzx øÁ¨£uØPõÚ ¬øÓPøÍ 

ÂÍUS.

9. Trace the origin and development of Trade Unions in 
India. 
C¢v¯õÂÀ öuõÈØ \[Pzvß ÷uõØÓ® ©ØÖ® ÁÍºa] £ØÔ 

TÖ.

10. Explain  the  significance  of  social  insurance  and 
elaborate on any two schemes in India.
\P  Põ¨¥miß  ¬UQ¯zxÁzøu  Áøµ¯Özx  AøÁPÎÀ 

H÷uÝ® Cµsk vmh[PÒ £ØÔ ÂÍUS.

11. Explain how Industrial Disputes Act is a means of 
resolving  Industrial  conflicts  in  the  post  independent 
India.
C¢v¯õÂß  _u¢vµzvØS  ¤ÓS  öuõÈØ\õø» 

¬µs£õkPøÍ GzuøP¯ ÁÈPÎÀ öuõÈÀ xøÓ uPµõÖPÒ 

\mh¨£i wºzx øÁzxÒÍx Gß£uøÚ ÂÁ¶.

12. Write short notes on :

(a) Pigou's classification

(b) Maternity Benefit Act

(c) Social Insurance and Social Assistance.

]Ö SÔ¨¦ ÁøµP :
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(A) ¤÷PõLè ÁøP¨£õk

(B) ©P¨÷£Ö \¾øP \mh®

(C) \P Põ¨¥k ©ØÖ® \P EuÂ.
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